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HEE HEY FxH FAUZTY | FYUYH | SYAE 2ASH
2019-03-11 ojozt 30,000 CMS =9 Aoz g
2019-03-15 offIm| B XY 22,200 A ZHo|H| = ANSYZ
2019-03-18 SOx} 30,000 CMS =3 AASAFZ
x| 2019-03-27 stO|ELS 30,000 CMS = AdsAg
2019-03-27 HjOO| 10,000 CMS =3 AASAZ
2019-03-27 2o 10,000 CMS g o=z
2019-03-27 AtOel 30,000 CMS =9 Zo2dz
A 162,200
2019-03-04 HO7| 10,000 CMS =3 CIPNES]
2019-03-04 zog 10,000 CMS =3 CIPNES
2019-03-04 ooz 10,000] CMS =4 EIPNES
2019-03-04 =08 5000 CMS = HI X
2019-03-04 0™ 10,000 CMS =3 CIPNES
2019-03-04 ojom 10,000 CMS =3 HI X
2019-03-04 0|03%} 10,000 CMS =3 CIPNES]
2019-03-04 *og 10,000 CMS = HI X
2019-03-04 HHOM 5,000 Z/ZHO|A| =3 CIPNES]
2019-03-04 8O0 20,000 CMS =3 HI X
2019-03-04 20N 10,000 CMS =3 CIPNES
2019-03-04 HOoj 10,000 CMS &g CIPSES]
2019-03-04 0|0% 5000 CMS =3 CIPNES]
2019-03-05 HHOz 5,000 XS O|H| = H| X| &
2019-03-05 AO3| 10,000 Xt=O0|H| =3 EIpNES!
2019-03-07 | 219 j?gf_m%r Fe A -1,000,000( Z|=}O|H| =3 EIPNES




HEE HEY FXH FAUZTY | FYUYH | SYLE 2ASH
2019-03-07 20195552;”;'%? Fel A 1,000,000 A xto|A| =3 EIPNES
2019-03-07 203% 5000 CMS = HIX|H
2019-03-07 Moz 5000 CMS =3 CIPNES
2019-03-07 20z 3,000 CMS = HIX| ™
2019-03-07 zoz 10,000 CMS =B H| K| &
2019-03-07 20M| 10,000 CMS = HIX|E
2019-03-07 z02 5000 CMS =B H| X &
2019-03-07 [0g 20,000 CMS =3 HIX| ™
2019-03-07 Zo= 10,000, CMS =B H| X &
2019-03-07 209 10,000 CMS =3 HI X
2019-03-07 O|OXt 10,000 CMS =3 CIPNES]
2019-03-07 Fi[oES 10,000 CMS =3 HI X
2019-03-07 209 10,000 CMS =B CIPNES
2019-03-07 OtO%t 10,000 CMS =3 HI X
2019-03-07 ZOX} 10,000 CMS =3 CIPNES]
2019-03-07 HHOZ%: 50,000 CMS =3 HI X
2019-03-07 0z 30,000 CMS =3 CIPNES
2019-03-07 20% 10,000 CMS AT H| X7
2019-03-07 S|OX} 50,000 CMS =3 CIPNES]
2019-03-08 20y 51,620| YA 2 = H| | &
2019-03-08 Moz 500,000( Z|=to|H| =3 CIpNES!
2019-03-13 ol 10,000 CMS = HI X
2019-03-15 Z0% 30,000 CMS =B HI X
2019-03-18 %ozt 10,000 CMS =3 HI X ™
2019-03-18 HOT 5000 CMS =3 CIPNES]




AHY HEY SRty SUTY | suwy | EXRE $5R
2019-03-18 x0= 5,000 CMS = H|X|™
2019-03-18 Hqo= 5,000 CMS = EIPNES]
2019-03-18 EHO)e] 10,000 CMS = H| X[ ™
2019-03-18 AOA 10,000 CMS =3 EIPNES]
2019-03-18 ENOIE] 10,000 CMS =8 H| X[ ™
2019-03-18 O|OXK} 10,000 CMS =g EIPNES]
2019-03-18 0|0z 10,000 CMS =38 H| X[ ™
2019-03-18 OAHYIH 10,000 CMS =3 EIPNES]
2019-03-18 =XQPN; 10,000 CMS =38 H| X[ ™
2019-03-18 03] 20,000 CMS =3 EIPNES]
2019-03-18 | CHH|X|QtH RIAIS M HALA 2| 30,000(  CMS 54 HI XS
2019-03-18 08 10,000 CMS =3 EIPNES]
2019-03-18 OLOs| 20,000 CMS =8 H| K| ™
2019-03-18 LS EA|(F) 100,000 CMS =3 H|X| ™
2019-03-18 oM 30,000 CMS =9 H| X|7d
2019-03-25 O|OXY 10,000 X}=O|A| =3 H| X ™

H| X| A 2019-03-26 HjO% 50,000 =3 1PN
2019-03-27 AOE 10,000 CMS = EIPNES)
2019-03-27 BIOZI 5,000 CMS =¥ H| X[ ™
2019-03-27 o|oH 5,000 CMS =3 EIPNES)
2019-03-27 ES[O)=] 10,000 CMS =8 H| X[ ™
2019-03-27 otO4= 10,000 CMS = EIPNES)
2019-03-27 o|04 5,000 CMS s H|X| ™
2019-03-27 zoH 3,000 CMS = H|X|™
2019-03-27 SO0j 10,000 CMS s H|X| ™




AEE HEy FHXE FHUSY | FAYY | SZTE FHUSRE
2019-03-27 7o 10,000 CMS 5% H|X|d
2019-03-27 Eroot 5,000 CMS =% SIPNES
2019-03-27 SO8 10,000 CMS =% SIPNES
2019-03-27 HqO0& 5,000 CMS =% SIPNES
2019-03-27 ojoal 3,000 CMS = H|X|E
2019-03-27 HOo= 5,000 CMS =% SIPNES
2019-03-27 0|0Z 20,000 CMS = H|X|E
2019-03-27 H07| 10,000 CMS =% SIPNES
2019-03-27 (05 5,000 CMS = H|X|E
2019-03-27 HOE 5,000 CMS =59 SIPNES
2019-03-27 ojog 3,000 CMS g H|X|E
2019-03-27 =00 10,000 CMS =% SIPNES
2019-03-27 ZOZl 10,000 CMS g H|X|E
2019-03-27 20z 5,000 CMS =59 SIPNES
2019-03-27 710¢ 10,000 CMS g H|X|E
2019-03-27 zoy 10,000 CMS 5% SIPNES
2019-03-27 Aoz 10,000 CMS =% H|X|E
2019-03-27 0|0t 10,000 CMS 5% SIPNES
2019-03-27 HqOou 10,000 CMS =% H|X|E
2019-03-27 404 10,000 CMS 5% SIDNES
2019-03-27 ooy 10,000 CMS =% H|X|E
2019-03-27 HO& 10,000{ AH=HO|H| 5% H| X8
2019-03-27 g2o&l 10,000 CMS =% H|X|E
2019-03-27 20& 10,000 CMS =53 EIPNES
2019-03-27 202 10,000 CMS =% H|X|E




HEE HEY FXH FAUZTY | FYUYH | SYLE 2ASH
2019-03-27 204 10,000 CMS = HI X ™
2019-03-27 )] 10,000 CMS = HIX|H
2019-03-27 20X 10,000 CMS =3 CIPNES
2019-03-27 *|03] 10,000 CMS =3 HIX| ™
2019-03-27 g0 20,000 CMS =3 EIPNES
2019-03-27 =02 10,000 CMS = HIX| ™
2019-03-27 ot 20,000 CMS =3 CIPNES]
2019-03-27 SOXt 10,000 CMS = HIX|E
2019-03-27 20t 10,000 CMS =B CIPNES
2019-03-27 ojog 10,000 CMS =3 HI X
2019-03-27 8O 10,000 CMS =3 CIPNES
2019-03-27 Eol= 50,000 CMS = HI X
2019-03-27 HOA 10,000 CMS =3 CIPNES
2019-03-27 0|0% 10,000 CMS =3 HI X
2019-03-27 Hoz 10,000, CMS =B H| K|
2019-03-27 ojoYg 10,000 CMS = HI X
2019-03-27 nfeE= 10,000 CMS =3 CIPNES
2019-03-27 MOz 10,000 CMS = HI X
2019-03-27 zog 10,000 CMS =3 CIPNES
2019-03-27 HOH 10,000 CMS = CIPNES
2019-03-27 204 10,000 CMS =3 CIPNES
2019-03-27 SOXt 20,000 CMS =3 CIPNES!
2019-03-28 803 10,000 CMS =3 CIPNES]
2019-03-29 ot} 20,000| X-=O|A| = H| K| &

2A 1,958,620
A 2,120,820




